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STINHIAT

ANSWER SHEET
SARATAT 1.1
1. (i) gof a7 &Y ¥ (i) qof avf 2 (iii) qof avf 2 (iv) gof a7t @ (v) qof @it &7 2|
3. (1) ¥ (i) fawH (iil) s (iv) v (v) a9 (vi) 9 (vii) 99 (viii) 9 (ix) faee |
SARATAT 1.2
1. (i) gof &= 2 (i) gof &= &1 ® (iii) gof &= & (iv) Iof &9 € (v) gof == =1 @
(vi) guf &9 T8 &

2.2 3.13 4. 11 5. (ii) 10, (v) 484, (vi) 169
STRATAT 1.3
1.()19 ()20 (iii)28 (iv)32 (v)48 (vi)84
2.16
SARHATAT 1.4

(@) 23 ()37 ()32 (vi)7e (v) 30 (vi) 89 (vii) 225 (Vviii) 603

—_—

2. 43 Ufdd a1 ™

3. 38 HIcR T3 AT AISS
STINHIAT 1.5

(@) 27 (1) 41 (i11) 3.05

2. (1) 95 (1) 2.24 (111) 2.64
STINHIAT 1.6

(1) 5 (1) 7 (i) 11 (vi) 13 (v) 21 (vi) 55 (vil) 17 (viii) 35

STXHAIT 2.1

1. (@—125 (b)—1024  (c) 64 (d) 729

2. (a)5° (b) (15 (¢)—=(12)*  (d) =(p)’
STIXHIIT 2.2

1. (a) L (b) 16 (¢)—3125 (d) 16

343 25 9

2 (@ —@] (b) @ © @

(a) 9 (b) ¥ (c) ™ (d) 3

s
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JNHIAT 3.2
1. AF =251 2.2.5 94 3. 129
S cANHIAT 4.1
1. (i)6x*+25x+ 14 (i1) 6x2 + 17x — 45 (iii) 105x* — 104x + 12
(iv) %xz +75—2xy—6y2 (V) 7x* + 34xy — 5)°
2. (1) 9x*+ 10xy + 3y° (i1) 3x? — %x + % (1i1) 3x* — 5x*y + 3xy* - 5)°
(iv) a? + 2ab + b?
JINHICT 4.2
1. (i) —3xy (i) 3xy (iii) +xy? (iv) —4a’b
(v) —4a’b’c?
. 3 o1, 1
2. (1) x*—3x+2 (ii)—a’v+2a+3 (iii)—3a’tda  (iv) Zx +§x—§
(v) atbtc
JINHIIT 4.3
1. (1) 8x*—4x*+15x>—3x—15 (i) 12m’-9m3-6m>+8m+16
(iii) 9m*—m’—16m*—4m+16 (iv) 12y*—8y’'—6y*+4
2. ()9 (v) TP AV YR TS BIT © | 37d: HISldh, AT Bl U [UFHTS ¢ |
3. (i) 9THd =x2+3x+6, 39 =10
(i) HTHA =x2 — 2x + 6 Y = —42
(i) FTHe =2x° —4x2 +x + 5, Y = —
(iv) ¥THel =2x2—2x + 3, 29 =12
4. (i) MRT%a =m— 1, AT =5
(i) ART®heT =a?—4a+ 9,39 =-16
(i) AFTHS = 3x% + 4x — 3, AT =46
(iv) 9THel =2x + 3, ¥ = —x + 3
JTIXHATAT 5.1
1. () = (ii) e =TT (iii) 24DB, z4cB  (iv) <Tg =9 AB
(v) =9 CDA (vi) &g =19 €D (vii) £L4DB, ZADC, ZBDC
JINHIT 5.2
@) z4=45 (i) x=y=33" (i) p=40° (iv) m=72",n=57

(V) u=93",v=87
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S<INHICAT 5.6

. BM =359 AB=7 94

1
2. 100, 3, 250, 6 (3) 5

Tforg

3. 180°

JINHIAT 5.3
. AR 2. JAfeHPIOT
SINHIAT 5.4
. ZPRQ=90°, ZOPR =50 2. /PYQ=/PXQ =80’
/P=90", /0 = /R =45’ 4. JBDC =50°
ZPTR = ZPSR =50’
3INHIIT 5.5
@ x=1300 () x=124° (€) x=yp=37
(i) x=p=52° (i) x=150",y =75
£COD =70°
PQ =32 IH
(i) x=90°, y=115" (ii) x=115",y =65

2. x=90°,y=50" 3PM = MQ = 4 9,
4. (i) FHEfawIoTd (i) o
STIXHIAT 6.1
1.72 2.60 3.8 4. 30 fd.am.
5.67 6.5 7.3 8.5
9.x=28
SNHIIT 6.3
1 , 1 . L
2 2 3 3
i QL1
. 2 . 2) 2
STIXHATAT 7.1
o I .. 1
1 (i) 3gpHATUTd fdeRoT § 3 (i) SrghHTIUTd ﬁ%r\fUT%‘T

(iii) SrgepaTguTd faaRor 81 & | (1v) STThATuTd fa=aRor 81 & |

(4) 1000 THHY.,
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5. |x | 4 24 36 44 52

y | 10 60 70 90
6. | wwg (et #) 3 4 @ 25 55

T B TS 33 (. ) 48 84 1860
7. (1), (i1), (iii), (iv), (V)
8.60 fcde 0. 180 fHHl.  10. 216 I  11. 50 A9  12. 5 HU
13. 2000 <. 14. 29 fad 15. 252 WeX  16. 7.30 BT
17. 1.925 9. 18, 4% e a1 256 AHUS  19. 18 I Ufd fAe
20. 34 HolgR 21, 15.75 fdaea
22. (1) (b) (i) (a) (111) (d) (iv) (¢)

SIXHIAT 7.2
] x| 8 6 4 | @ | 36
12 @ 10 @
o| =rar (fed /=ver ) | 4 8 (32
are (et #) 40 20 0 | (5)
3. 10 fad 4. 81 fad 5. 45 fbHT / GUeT 6. 10 ©IS
7. 45 fa9 8. 175 Afd 9. 10 fad 10. 15 fad
11. (iii), (iv), (v)  12. 80 U™ 13. 800 ©llcX
J3INHIAT 8.1

1. (1) 1,55t t, 5t

(ii) 1,7, x,y,7x, Ty, Txy

(iii) 1,2,7,14, ¢,0°,m,2¢,20°,2m,7¢,7¢°, Tm, 14¢, 14/, 14m, ¢m,
2/m, 7¢m, 14/m, (’'m, 2¢°m, 7/’m, 14/’m

(v) 1,3,13,39,7,3¢,13¢,39¢, m,3m, 13m, 39m, n, 3n, 13n, 39n,
/m, 3/m, 13/m, 39/m, /n, 3/n, 13/n, 39/n, mn, 3mn, 13mn,
39mn, /mn, 3/mn, 13/mn, 39/mn

2. (1) 99 =S (i1)) 949. =3
3. (1) 6m/ (i1) 4bc

(v) llpg’r (vi) x (vii) 1

(111) xy

(i11) ¥9. =2a (iv) 99. =m

(iv) Tx
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I
SINHIIT 8.2
1. (a) x? (b) 5a? (¢c) 2¢ (d)16x, 9z
(e) 6b?% 4bc, Sa.
2. (a) 2a(2x + 3ay) (b) a(a’y + b?) (c) G (pr-20)
(d) =5¢m(m + 2/n) (e) S(m + n)(m — n)
3. (a) 2(x+ 3y)(xy+2) (b) (m—2n)(5mn + 12)
(c) (Bx+4)(2x*+3y) (d) (5x° + 4y)(3x* + 2y?)
(e) x+3)x+8) () x-4)3x-3)
(g) ({—m)(2Zm+3)
4. (a) x—3y*x (b) — 5Ix’ + 153x7
(c) 6a’— 8a* (d) 9m? — 9mn
(e) 97 — 63F
SANHTIT 9.1
(1) (i) 4a+12a+9 (ii) %mz +%m+%
(2) (1) ¥*—10x+25 (i1) %xz—%?@“r%f
(iil) 4a’ —2a + % (iv) x* = 2x47 +y?
(3) (i) 16x* -25 (i1) %2—%2
(iii) b* — a* (iv) x° —»°
4) (i) 44’ + 20a + 25 (ii) gm“ +%m2n2 +§n“
(iii) 64x° — 80x*y* + 25y°
(5) (i) 1681 (i) 4761  (iii) 9801 (iv) 6561
(6) (1) 9975  (ii) 8096  (iii) 249991
(7) (i) 50 (i1) 31 (ii1) -13 (iv) 13
(8) 9x? —30xy + 25)°
© o

9 6 16
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STINHTIT—9.2
1. (a) 2x + 5)(2x + 5) (b) (5a + 7b)(5a + 7b)
(¢) Bx + D)(3x + 1) (d) (1 +9a)(1 + 9a)
@@+ )0+ 5) () (6a + 11b)(6a + 11b)
2. (a) (a— 5b)(a — 5b) (b) (4x — 13)(4x — 13)

(c) (11x —4y)(11x — 4y) (d) (x = 15)(x — 15)
(e) (6ba—1)6a—1)

3. (a) (5a + 7b)(5a — 7b) (b) Bx + 11y)(3x — 11y)
(c)(8a+1)8a—-1) (d) (1 +4b)(1 —4b)

@ (Gm+ 3m)(Gm - 5n)
4.()(x+4y+N(x+4y—7)  (b) (10 + 2a + 35)(10 — 2a — 3b)

©)2x+ 5y +6)2x +5y—-6) (d) (7x—5y)(5y —x)
(e) (v + Hlxy - 4)

5. (a) (x — 57) (b) 3, x (©)7,7 (d) (a +b-2)
6. x°- 10x + 25 TR 7. 5 ol
8. (x-5) #Hiex 9. 2 WiC, 3 BIT

ITARHATAT—10
@) M@ (q) smad (|) 60° (3) 28 1
@) Tt (ii) AT (iii) 6 (iv) (n-2)

1
2

4. 1080°
5. 120°, 60°, 60° 6. 80°, 80°, 100° 100°
7

.18 HI, 24 FHI
IAHTAT—10.1
1. 50° 2.95° 3.72°, 108° 72°, 108°
4.60° 90°, 120° 5. 36° 72° 108° 144° 6. 80° 100° 80° 100°
STRATAT  12.1
(Hx=3 2)x=1 (3)m=2 (4)x=%
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S)y=4 (6)y=2 (M k=-2 8 x=3

9)x=-0.5
STIRHIAT 12.2

(1) 14, 28 (2) 10, 30 (3) 59, 2 3 (4) 62

(5) 34 (6) % (7) 14 99, 10 a9 (8)36 Y, 12 a9
STANHTT 13.1

1. ()410%. (i) 1986%. (iii) 1040 3.

2. (1)8427%. (i) 2916%. (iii) 6480 %.

3. 5948.80%.

4.9261%.
STANHICT 13.2

1. 81%. 2.27783 %. 3.12%. 4.405%.
SANHICT 13.3

[—

. (1) 7986 %.,1986%. (i) 1764%., 164%.  (iii) 11241.25, 2741.25%.
(iv) 23152.50 %, 3152.50 <.

2.729%. 3.5000 %. 4. 15% 5.10% 6.46.08 2.
STINHIAIT 134

1. 1820%. 2.1200%. 3. 1444 %. 4. 340 %.

5.12000 . 6.937.50 2. 7.5400 %. 8. 13200 .
STINHIIT 141

1. (i) 150 ¥ FH. (i) 720 o . (iii) 1800 TF T,

2. 1855 a¥ I, 3. 15 I, 4. 20 #I.
STINHIIT 14.2

(1) 42 cm? (2) 18.75 cm? 3) 8 cm (4) 4500 dm?
STINHIIT 14.3

(1) 120 & 41 (2) 30 T T (3) 168 @ FHI (4) 40.8 a7 T
(5) 12 511, 18 &1



S CAXHTAT 293

STRATCAT 14.4
(1) 156 a3 1 (2) 149 a¥ H.  (3) 530 @ HI, 278250 .
ITARATCT 14.5
(1) 198 a3 1 (2) 18857 & WHI (3) 2794 T HHI
STINHIAT 15.1
1. (i) FAPR (i) mtr*h (iii) 1078 TP
2. 20790 G HHI,
3. (1) 6336 P (ii) 123.20 9HP (iii) 6600 He®
4. 4:1 5. 86.24 Hic3? 6. 138.6 TP
JINHIIT 15.2

—

() TPUS = 1056 AHP, T IS = 1364 FAHP
(i) THYS = 1320 HIe?, AU 6 = 1948.57 Hiex?
(i) THYS = 2310 VP, AU g5 = 3003 TP
(iv) ThYS = 8800 HHP, AUl U3 = 10032 HHP
2. 5280 AP 3. 69.14 | 4. 3850 G HIcy, 3300 B0
5.264 % HIex 6. 50 TAI

STXHTCAT 16
(5)6
STANHTAT 171
o 12 ., 6
1. (i1) 3’ (1v) -
5 5 11 23
. 12 .. D 11 . P
3. () 1, 9 (1) 7, 712 (111) 6, 618 (iv) 4, 61
L2 6284 12478
4. (1) gagagag (11) §,§,§,§,§
STNHIT 17.2
2. (i) 8 (i)—12 (iii) 20 (iv)—39 (v) 59
o . ey D ., —13
3. (1) 5 (11)0 (111)—5 (IV) —_8

5
4.2 5.1 6.5
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STINHTAT 17.3
1. 10, QT 3HIT FEAT 30, 50, 35, 53, I JDHII HEAT 305, 350, 503, 530
2. (A) 111,222,333, ..., ... 3l
(B) 111111111, 222222222, ... seaife
(a) 26,37,65,101  (b)13,34,89 (c)99,90,80,57 (d)8,6
0'+62+33=0+36+27=63 3|
1+2+3+4+5+6+7+8x9=100
A=25B=161,C=25,D=12,E=95F=26
G=25H=23,1=167,) =561
10. ()2 +2—2+2/2=3 (i()22+2-2-2=7

R

11.
SIRATAT 17.4
1. ) B (i)=& (iii) 8f (iv) 98l (v) &l
2. () fovrsw & (i) fovrsg =€t 2 (iii) favrsa &
(iv) for €1 8 (v) favrsg ©
3. 1. (i) 932 (iii) 6570
4. (1) 560 (i) 791  (iv) 7007
SARATAT 18.1
1. (i) 2% (i1) 1% (iii) 2—70
2. () =2 (i) %+‘—2'; (i) o2
3. e
4. () % (if) _1% (iii) —22
23
5. EG. 1
02 @o ()T @)
8. (1) o fafvr = (i) aread e (i) 999 o s (iv) I gfad™



G XHTAT

N

STINHIIT 18.2
-5 @3  G)-5 @5
Mo @@= (i)-5>
Za 225 () o (ii) I (i) W ()
STINHTIT 18.3
05 035 i) 375
N 2 N N (4 -25) 1
(i) 5 (ii) =% (iii) {;X%ng
(i) faa=or A (i) faaRor M (i) 9 fafFHa (iv) omes
(v) TIoE THHD
.. 29
0 -7 @)-2 @
(1) g (i) 39y (iii) 3T (iv) 9
STINHIAT 18.4
02 2 @ @8 ()2 M)
0)-3 () () @) -3 () = @) -
204 ﬁ 5 B
9 4

.3 .3
)5 ()

17 3 5 11 23

4878712724748
-35 —11 1

STINHIAT 18.5

(i) ==, =22
W93

519

168 84 *42°28°56

7 25 61

9671624748796
()F= (i) o™

(iif) 3reT

295
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STINHIAT 191
1. () 6 (ii) Sars (iii) 10°
2. 6000 IleX 3. 280 g9 IHI 4. 1200 O 9H

5. () 150 9 ¥ (ii) 360 9 ¥ (iii) 64 T HIex  (iv) 22.5 T HIX
(v) 35 &9 I (vi) 40 B HHT  (vii) 120 &9 FH (viii) 168 & FHI
(ix) 37500 T ¥ (x) 11.25 & A

6. 8 T 7. 125 ThHS 8. 67.5 HITY 9. 1600 ofIey
10. 1 HIex 11. 4320 €9 BIT 12. 1.728 G- \HI

13. 432 G HIcY (G7RdT) 288 T HIeY (UM &I 3TIA)

14. 60 &9 I, 60000 <iIex 15. 25000 S¢

SNHICT 19.2
1. (i) 54 (ii) SRTeR (iii) =
2. 1025 WHP 3. 846 |S? 4. 4750 WA 5. 69.36 WHI

6. 6 THI 7. 7950 W9 8. 188 . 9. 4:1
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